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PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes
the sentence. Then mark your choice on your answer sheet.

The most likely --—------—-- seemed to be that both parties would agree to remain friends.
1) context 2) target 3) contrast 4) outcome

Her management skills were the —---——--—— on which she built her career.

1) restraints 2) foundations 3) innovations 4) implications
Unfortupately there has been a substantial increase in human rights

1) violations 2) proportions 3) consultations 4) perspectives

I’m afraid she has a very busy --—---——-—- at the moment and she doesn’t have time for
interviews.

1) schedule 2) procedure 3) commitment 4) interaction

If you are rude to other people, your child will ~——-—- -- that this kind of behavior is
acceptable. :

1) invoke 2) conform 3) assume ' 4) estimate

The govemment has — — strong opposition to its plans to raise income tax.

1) resolved 2) encountered 3) marked 4) transformed
More details of the plan —————— at yesterday’s meeting.

1) evolved 2) debated 3) emerged 4) released

Russia ------——-- a group of islands near Japan at the end of the Second World War.
1) founded 2) displaced 3) occupied 4) eliminated

Since retiring Martha has been doing ~----------— work for the Red Cross.

1) mutual ' - 2) voluntary 3) arbitrary 4) inevitable

She can stay here —-- , while she’s looking for an apartment.

1) specifically 2) consistently 3) considerably 4) temporarily

PART B: Grammar

Directions: Read the following passage and decide which chaice (1), (2), (3), or (4)

11-
12-
13-
14-
15-

best fits each blank. Then mark your choice on your answer sheet.

Health is clearly an important concem (11) -----=n-nmmen -- both individuals and the planet as a
whole. (12) -----------—-- many illnesses have been eradicated, others remain a threat, and the
overuse of antibiotics (13) -------—------ to the development of resistant types of bacteria.
Nevertheless, on the whole, general health (14) ---------—--— , and in developing countries medical
aid programs are already working (15) ------------ -- creating a healthier population.

1) affects 2) it affects 3) that affects 4) that it affects

1) Since 2) Despite 3) Because 4) Even though

1) has led 2)is led 3) leads 4) has been led

1) improved 2) is improving 3) 1s improved 4) will be improved
1)in 2) for 3) with 4) toward
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Part: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then

mark it on your answer sheet.

PASSAGE 1:

A good is an object whose consumption increases the utility of the consumer, for which the
quantity demanded exceeds the quantity supplied at zero price. Goods are usually modeled as
having decreasing marginal utility. The first car an individual purchases is very valuable; the
fourth is much less useful. Thus, in these and similar goods, the marginal utility of additional
units approaches zero as the quantity consumed increases. Assuming that one cannot re-sell it,
there is a point at which a consumer would decline to purchase an additional car, even at a
price very near zero. This is the consumer's satiation point.

In some cases, such as the above example of a car, the lower limit of utility as quantity
increases is zero. In other goods, the utility of a good can cross zero, changing from positive
to negative through time. This means that what initially is a good can become a bad if too
much of it is consumed. For example, shots of vodka can have positive utility, but beyond
some point, additional units make the consumer less happy, that is, they would not be chosen.

In economics a bad is the opposite of a good. Ultimately, whether an object is a good or a bad
depends on each individual consumer, and therefore, it is important to realize that not all
goods are good all the time, and not all goods are goods to all people.

What would the best title be for the above passage?
1) Consumer’s Satiation Point 2) Utility Characteristics of Goods
3) Not All Goods are Goods to All People 4) Production and Consumption of Goods

According to the passage, the first thing a person buy is more useful than the fourth, which
means -----—--,

1) goods have increasing marginal utility 2) goods have falling marginal value

3) quantity demanded exceeds quantity supplied 4) quantity demanded exceeds quality provided
If a consumer cannot re-sell a good, he or she would ———-—--- another at some point, which is
called satiation point.

1) refuse to sell 2) decrease to sell 3) refuse to buy 4) decrease to buy
According to the passage, the lower limit of utility as quantity increase --—---——.

1) is always zero 2) is sometimes below zero

3) always crosses zero and becomes positive 4) always crosses zero and becomes negative

The author finally concludes that an object is —----—--.
1) relatively good based on the user

2) absolutely good based on the time

3) definitely good based on the user and the time

4) unconditionally good at all times and to all people
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PASSAGE 2:

A good or commodity in economics is any object or service that increases utility, directly or
indirectly, not to be confused with good in a moral or ethical sense (see Utilitarianism and
consequentialist ethical theory). A good that cannot be used by consumers directly, such as an
office building or capital equipment, can also be referred to as a good as an indirect source of

utility through resale value or as a source of income. A 'good' in economic usage does not
imply moral acceptance or even legality. i

If an object or service is sold for a positive price, then it is a good since the purchaser
considers the utility of the object or service more valuable than the money. Some things are
useful but not scarce such as air and are referred to as free goods.

In macroeconomics and accounting, a good is contrasted with a service. A good here is
defined as a physical (tangible) product capable of being delivered to a purchaser and
involves the transfer of ownership from seller to customer, as opposed to an (intangible)
service. A more general term that preserves the distinction between goods and services is
‘commodities'. In microeconomics a 'good' is often used in this more inclusive sense of a
commaodity.

21- What does the passage mainly discuss?

1) Utility of an Object or Service - 2) Good in a Moral or Ethical Sense
3) Good in Economics and Accounting 4) Distinction between Goods and Services
22- Office building and capital equipment adds to utility ——-eeee,
1) by means of resale value 2) through moral acceptance
3) indirectly by means of legality - 4) directly as a source of earnings
23- According to the passage, be regarded as goods.
1) plentiful objects like air can 2) scarce things such as water can
3) useful objects like wild animals cannot 4) precious things such as gold cannot
24- In accounting, there is ~-----—- between a good and a service,
1) a minor difference 2) a great distinction
3) no significant distinction 4) no remarkable difference
25-  As far as microeconomics is considered, the author finally concludes that ‘good’ is
1) a touchable product

2) contrasted with ‘service’
3) an object delivered to a buyer :
4) frequently employed in the sense of ‘commodity’
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PASSAGE 3:

In the late 1980s, accounting practitioners and educators were heavily criticized on the
grounds that management accounting practices (and, even more so, the curriculum taught to
accounting students) had changed little over the preceding 60 years, despite radical changes in
the business environment. Professional accounting institutes, perhaps fearing that
management accountants would increasingly be seen as superfluous in business organizations,
subsequently devoted considerable resources to the development of a more innovative skills
set for management accountants.

The distinction between ‘traditional’ and ‘innovative’ management accounting practices can
be illustrated by reference to cost control techniques. Traditionally, management accountants’
principal technique was variance analysis, which is a systematic approach to the comparison
of the actual and budgeted costs of the raw. materials and labor used during a production
period.

While some form of variance analysis is still used by most manufacturing firms, it nowadays
tends to be used in conjunction with innovative techniques such as life cycle cost analysis and
activity-based costing, which are designed with specific aspects of the modern business
environment in mind. Lifecycle costing recognizes that managers’ ability to influence the cost
of manufacturing a product is at its greatest when the product is still at the design stage of its
product lifecycle.

26- What would the possible topic be for the above passage?
1) Professional Accounting Institutes
2) Accounting Practitioners and Educators
3) Life Cycle Cost Analysis and Activity-based Costing
4) Traditional vs. Innovative Management Accounting Practices

27-  According to accounting practitioners and educators, the subjects provided for accounting
students have ------—--,

1) changed little over the subsequent 60 years
2) changed largely during the following 60 years
3) not changed much during the past six decades
4) not changed at all over the previous six decades
28- Professional accounting institutes allocate remarkable resources to new skills so that

management accountants -—----—-—-,
1) could not easily be deceived 2) could not easily be betrayed
3) would not be regarded as supervisors 4) would not be considered redundant

29- The auther refers to cost control approaches so as to ———- between ‘traditional’ and
‘innovative’ practices.
1) ignore the difference 2) overlook the similarity
3) explain the similarity 4) demonstrate the difference
30- It can be concluded from the passage that many businesses ~—--—-- omes..
1) uses innovative techniques without referring to traditional
2) apply conventional approaches to modemn
3) direct modern techniques towards conventional
4) employ traditional approaches together with innovative
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